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21 22 23
(A) 150,411 140,783 152,696
1,340 1,186 1,102
48,195 48,071 52,531
100,670 90,186 97,264
43,452 47,629 53,731
57,218 42,557 43533
(B) 138,882 144,329 138,382
117,897 122,910 124,342
71,562 76,354 78,964
11,538 11,793 15,183
20,985 21,419 14,040
12,710 13,201 4,457
(C)=(A)-(B) 11,529 3,546 14,314
(®)] 1,296
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(F)=(D)-(E) 1,296 0 432
(G)=(C)+(F) 12,825 3546 13,882
(H) 251,981 264,306 261,260
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6,972 7,280 7,506
1,648 1,955 2,181
5,324 5,324 5,325
73,008 48,356 53,151
322,585 311,293 322,607
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54,810 47,367 39,843
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1,649 1,956 2,181
57,779 50,032 47,464
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